run_13087037_FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Mar 27 12:14:55 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

2

ADC-ped

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

ADCApFOd

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

ADCped

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=4 }

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =
g 3500 fm— v e e e e .|
i =
3000 fm— v e e e e .|
=
2500 fm— - s s s n s .
=
2000 s e e e e .
=
1500 fm— v v e e e man et o
I -
=
=
G |==oosa50m0500 .
=
=
Of— s Ld
= i R ; i : ]
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

107

10

10°

10"

10

10"

10°

10"

10°

10"




run_13087037_FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 27 12:16:57 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13087037_FGT_RMS_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 27 12:17:31 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

e RRRCELEEREEPEERD paeacasaenceacasasacand frapacaaaraaaaaraaaaanad faacaaaaapacasasasasand pacacacacaeanaaaaaraaad faanaaaaanacasasasaeand Pacacaca

250 |-

RMS (ADC-ped)

200

150

100

50

°THI:F’|-I:]1]1'I'I'I'|THI||I

" " " " " " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

g L— =
g P T e R R ] ) R TR P
Q
a
<
I
3
3
o I i i i i i i
20 40 60 80 100 120
APV channel

= —

-3 200

Q =

2 180 =

2 160 F—=

z =
140 f—=

120

100

80
60

40

20

=
=
b—
—
—
——
=

0

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

r—
400
350

300

RMS (ADC-ped)

250

200 f=—- - -+
=

150 f=—

100 f=—

50 f=—- -+

N= P S S S |
0 20 40 60 80 100 120

APV channel




run_13087037_FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Mar 27 12:14:58 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

ADCrped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

ADCrped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

ADC1ged

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

ADC-ged

10

i
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«
% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13087037_FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 27 12:16:58 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

ool
Q 20 a0 0 a0 100 120
APV channel




run_13087037_FGT_RMS_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 27 12:17:32 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

300

RMS (ADC-ped)

250

200

150

100

—:

50

FFH ““““'“”Hrrll||||||||

. . ; ;
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

i
120

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

i
120
APV channel




run_13087037_FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB

Tue Mar 27 12:15:02 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

ADC-ped

1000 2000

[[_ADC for FGT RDO=1.ARM=0.APV=13 |

3000

4000
raw ADC

2

ADCAP%d

10

0 1000 2000

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

3000 4000

raw ADC

2

ADCApgd

1000

2000

[ ADC for FGT RDO=1,ARM=0,APV=15

3000 4000

raw ADC

3000

4000
raw ADC

1000

2000

3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—r|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
o
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
ofE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13087037_FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Mar 27 12:16:59 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13087037_FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Mar 27 12:17:33 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

=
0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}
300

250 [

RMS (ADC-ped)

200
150 -

100

50

" " " " " " " " " i " " " i " " " i " " " 1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

RMS (ADC-ped)

i
120
APV channel

RMS (ADC-ped)

i i
20 40 60 80 100 120

[ ADC RMS for RDO=1,ARM=0,APV=16 }

g = .
2 300 f—
%) —
a —
< —
<) =
%) 250 p——
= —
e —
200 f—
150 f—

100

50

0

°‘I‘I‘I‘T+F+F-{-Iilll

20 40 60 80 100 120
APV channel




run_13087037_FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB

Tue Mar 27 12:15:06 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

ADOpgj

2000 3000 4000

raw ADC

AD%‘ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=20

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

ADOpeg

2000

i
0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
o
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 = e e e
% =

3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() =TT
=
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13087037_FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Mar 27 12:17:00 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

1500 |+

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
20 40 60 80 100 120
APV channel

-500

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13087037_FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Mar 27 12:17:34 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

300

250

RMS (ADC-ped)

200
150

100

iiii HH|IIII|1I11]1111'|'I'I

50

L i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}
400

350

300

RMS (ADC-ped)

250
200 f=
150

100

50

" " " " " " " " " i " " " i " " " i " " " 1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=19 |

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

250 [: j g A fposcscscasscscscssad Boooooo000000000000000d ——

RMS (ADC-ped)

200 [ - 8§ ERREEEE R R R R R foorooanaRoEanaEasanany pecacace
150 &

100 [r

50

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

i . . . i
100 120
APV channel




run_13087037_FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 27 12:15:09 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

[ 1000 2000

[ADC for FGT RDO=1,ARM=1,APV=1 }

3000
raw ADC

4000

ADCiged

0 1000 2000

[ADC for FGT RDO=LARM=1APV=2 }

3000

4000
raw ADC

ADOzped

0 1000

2000

[ADC for FGT RDO=1,ARM=1,APV=3 }

3000

4000
raw ADC

ADC1ged

0 1000 2000

[ADC for FGT RDO=1,ARM=1,APV=4 }

3000
raw ADC

4000

1000

2000

3000

4000
raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

80
APV channel

[[ADC for FGT

Py
]

O=1,ARM=LAPV=3 |}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

=
=
=
i
=
=
=
==
=
=

0

80 120

APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

. 2 .0 . d ol A

10

10°

10°

10

10"

10

10"

10

10"




run_13087037_FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 27 12:17:01 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13087037_FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 27 12:17:35 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

250 [+

200 |+

RMS (ADC-ped)

150 |+

100

50 [+

. . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

i
120
APV channel

300 fm—=rr e T e e T rrer e e s R L e L R L e T

RMS (ADC-ped)

120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

350 |

300

RMS (ADC-ped)

250 [+
200
150

100

50

i . . . i
100 120
APV channel

0




run_13087037_FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 27 12:15:13 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

In=

imeb

Tue Mar 2_7 12

run_13087037_FGT_MPV_1,T

:02 2012

17

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13087037_FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 27 12:17:37 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13087037_FGT_ADC _1,Timebin=2,Disc=2,asmb=2AB

Tue Mar 27 12:15:15 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADCrped

LI
[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

AD%ped

0 1000

2000 3000 4000

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

ADGped

1 1
1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=15

ADCped

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

AD%ped

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
= 2
] o A P | T g
= 2
= 2
0 f— e
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
E L e T T e T B P E PR R RTY S T
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L L T B | L EEEPR e PReTE S
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d =
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... 1 .1 .1 .. 10 N0

10°

10"

10

10"

10°

10"

10°

10"

10°

10"




run_13087037_FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Mar 27 12:17:03 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13087037_FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Tue Mar 27 12:17:37 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

1
120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

[—
=
=
0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

100 |+
80 [+

60 |+

20 f2

40 |

h—
i
0

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

140

120

100 |r

—

"|TH|H

i . . . i
100 120

APV channel




run_13087037_FGT_ADC _1,Timebin=2,Disc=2,asmb=2AB
Tue Mar 27 12:15:18 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

AD%ped

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

0 1000 2000 3000 4000
raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

AD%ped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=1,APV=20

ADCrged

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

Angped

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

" 1
60 80 100 120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=r— |- = - - - - - ..
< =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=—|- - --- - - .-
=
500 f=— e - - - e e ..
=
= e
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 fm—l|- - 4= - or e s ee e p e e e
= 2
[0 Sl = B ERCH S SRS PR SR BF PR e
= 5
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. . . .

10

10"

10°

10"

10

10"

10

10"

10°




run_13087037_FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13087037_FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB
Tue Mar 27 12:15:51 2012

ADC for FGT RDO=1,ARM=4,APV=12 _§

ADC-ped

|
[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=4.APV=13 |

ADC-ped

0 1000 2000 3000 4000
raw ADC

[ ADc for FoT RDO=1.ARM=2.APV=14__ ]
—

ADOzped

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=15

AD%ped

0 1000 2000 3000 4000
raw ADC

[L_ADC for FGT RDO=1,ARM=4,APV=16 _}

ADCrped

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=4,APV=13

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=14

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
E
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=15
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0

[ ADC for FGT RDO=1,ARM=4,APV=16

4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... E.d . e A

10°

10"

10

10°

10

10"

10°

10°

10"




run_13087037_FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13087037_FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13087037_FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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